
Assembly Instructions

See following pages for individual 
component assembly instructions

BUNDLE - ANDORRA 2 PC CHAISE KIT

2x  CHAISE

SKU 1005



Assembly Instructions

Thank you for your purchase. If you have any questions pertaining to the assembly of this 
furniture piece, please contact the nearest World Market store. If you are not near a store, 

please call our customer service call center toll free at 877-967-5362 for assistance.

ALL PRODUCTS SOLD AT WORLD MARKET ARE NOT 
FOR COMMERCIAL USE AND ARE INTENDED FOR 

RESIDENTIAL USE ONLY.

 

SKU 629624/629669

Cover page - for  furniture goods that require customer level assembly. A/I are  cover page, components and hardware lists, assembly steps, anti-tip kit info (if applicable), care & maintenance and warranty info.

2023. 09.11 PAGE 1
V

Andorra Chaise



1Back Cushion

F 1Seat Cushion

A

B

C

E

Seat Frame

Backrest Frame

Leg

1

H-1

H-2

Spring Washer M8 

2

2

5

1

4

H-3

D  Center Leg 1

2

Allen Bolt (M8x80)mm 2

H-4

H-5

Hexagonal Nut M8

Flat Washer (M8x1.2)mm

Plastic Flat Washer

Component List

Hardware List

Allen Key

1T-2

1T-1

Tool List

2023. 09.11 PAGE 2
V

Wrench 13



Read the assembly instructions, cover-to-cover. Save any Care and Maintenance instructions pages for 
after the assembly has been completed.

In case of missing parts, please contact your nearest World Market store or call our customer service call 
center at 1-877-967-5362.

Assemble on a clean non-marring surface (such as the product’s packing foam).

Unpack all hardware bags and components to ensure you have all parts. Take note of bolt hardware 
size differences and components that may have directional labels (Example: TOP or FRONT).

It is always recommended to have 2 adults on hand for assembly.

Do not assemble on hard, abrasive flooring or carpeted surfaces that can damage or get caught in the 
components during assembly.

Do not discard any packaging until the product has been fully assembled.

 WARNING: Small parts are a choking hazard. Adult supervision is required before, during, and after 
assembly.

Assembly Preparation

Before Beginning:

2023. 09.11 PAGE 3
V



H-5

A

D

Cx5

C

C C

Clockwise

Assembly Steps

Step 1

(H-5) Plastic Flat Washer x 5

2023. 09.11 PAGE 4
V

Using a second person to assist you, place Seat Frame (A) upside down onto a padded, non-marring surface. Position Center Leg 
(D) and the remaining corner Legs (C) on Seat Frame (A) as shown. Note, the Center Leg (D) is slightly shorter than Legs (C).
Position the Plastic Flat Washers (H-5) between the legs and the seat frame and tighten by turning clockwise. DO NOT OVER

TIGHTEN.

Left Facing Table Right Facing Table

Each component of this collection is designed to be both left and right facing. There are two sets of holes that will accept the backrest. Be 
sure to decide on your desired orientation before proceeding. 

Step 2

B B



B

Assembly Steps

Step 3

x2

(H-1) Allen Bolt x 2

(H-2) Flat Washer x 2 

(H-3) Spring Washer x 2 

(H-4) Hexagonal Nut x 2 

(T-1) Allen Key

(T-2) Wrench 13

H-1

H-2
H-3
H-4

T-1

T-2

Clockwise

2023. 09.11 PAGE 5
V

Using a second person to assist you, place the assembly upright. Position the Backrest Frame (B) onto either side of the Seat 
Frame (A). Secure the Backrest Frame (B) by inserting Allen Bolts (H-1) through the top of the holes, ensuring it protrudes out 
the bottom, and thread the Spring Washers (H-3), Flat Washers (H-2) and Hexagonal Nuts (H-4), stacking the hardware in the 
order as shown. Engage all hardware first, then fully tighten using the provided Allen Key (T-1) and Wrench (T-2). DO NOT 
OVER TIGTHEN. 

Step 4

x4

Velcro

Position Seat Cushion (F) into position as shown, ensuring the zipper faces down. Secure using the preattached Velcro straps to the 
bottom rail of the Backrest Frame (B). Position the Back Cushions (E) into position as shown, ensuring the zipper faces down and 
the angles surface faces to the front. Secure using the preattached Velcro straps to the mid rail of the Backrest Frame (B). 

FE



Assembly Steps

Step 5

2023. 09.11 PAGE 6
V

ADJUSTABLE LEVELER

Levelers are located on the bottom of each leg and 
may be used for additional adjustment if needed 
for uneven surfaces.

Assembly is now complete and the product is ready for use. Adjustable levelers are located on the bottom of each leg and may be 
adjusted by turning outwards, counter-clockwise to help account for uneven surfaces. NOTE: Hardware may loosen over time. 
Periodically check that all connections remain tight and adjust as needed.



2023. 09.11 PAGE 7
V



2023. 09.11 PAGE 8
V


	629621,629666_Andorra Chaise_2023.10.10.pdf
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8


